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 CHAPTER 

CONTENTS ( ) 



 , ,

 
 

 (Line segment) :

 (Ray) :

 (Collinear points) :

 (Angle) :

O A 

B 

 

OA, OB  O 

 (Measure of an angle) :
OA  OB AOB 

mAOB 
‘o’

O A 

B 

 360° (An angle of 360°) : 
OA OA 

O 

360 
360° 

A O
360 

1° 
1° = 60  60' 
1' = 60  60'' 






 (Types of angles) :
 

AO

B

(i) 

O A

B

(ii)
 

O A

B

(iii) 

O AB
(iv) 

O
A

B
(v) 

AO
(vi)  

 (Bisector of an angle) : 

 OC AOB 
mAOC = mBOC. 

O A 

B 
C 

, AOC = BOC = 2
1 AOB.

 (Complementary angles) :
 90° 

. : 20°  70° 
 (Supplementary angles) :

180° 

. : 60°  120° 
   

.1 
 20° 

.  x° 
= (90 – x)°. 
x – (90 – x) = 20 2x = 110 x = 55 

55° 
.2 

 40° 
. x° 

= (180 – x)°. 
(180 – x) – x = 40 2x = 140 x = 70 

 70° 
.3 

12° 



. x° 
= (90 – x)°. 

 = (180 – x)°. 
6(90 – x) = 2(180 – x) – 12  
 540 – 6x = 360 – 2x – 12 
 4x = 192 x = 48. 

48° 
.4 80° 

.  180° = 179° 59' 60''. 
.5  87°28'43'' 

.   180° = 179°59'60''. 
 (87°28'43'') 

= [180° – (87°28'43'')]  
= [179°59'60'' – 87°28'43''] 
= (92°31'17'')  

 = (92°31'17''). 
.6 A = 36°27'46''  B = 28°43'39'', 

 A + B 
.  A + B = 36°27'46'' + 28°43'39'' 

= 64°70'85'' = 64°71'25'' = 65°11'25'' 
.7 

 : 
(i) 58° (ii) 16° 
(iii) 3

2 (iv) 46° 30' 
.  (i) 90° – 58° = 32° 

(ii) 90° – 16° = 74°  
(iii) 90° – 3

2 (90°) = 90° – 60° = 30° 
(iv) 90° – 46° 30' 

= 89° 60' – 46° 30' 

= 43° 30' 
.8 

. xº 
 xº 

 90º 
 xº + xº = 90º  2xº = 90º xº = 45º 

.9 

. xº   
xº + xº = 180º  2xº = 180º   xº = 90º 

.10 

.  x 
 (90 – x)º 

 : 
  = 5 × 

  x = 5(90 – x) x = 450 – 5x 
  6x = 450  x = 75 

 75º 
.11 

. x 
 = 180º – x. 

= 3
1  ( ) 

  x = 3
1  (180º – x) 3x = 180º – x 

  4x = 180º  x = 45º 
 45º 



.12 2 : 3 

.  2x  3x 
2x + 3x = 180º  

   5x = 180º  x = 36º 
 2x = 2 × 36º = 72º 

3x = 3 × 36º = 108º  
.13 : 

30º 20´ 
.  30º20´ 

= 90º – 30º 20´ 
= 90º – (30º + 20´) 
= (89º – 30º) + (1º – 20´) 
= 59º + (60´ – 20´)       [ 1º = 60´] 
= 59º + 40´ = 59º 40´  

.14 : 
134º 30´ 26´´ 

.  134º 30´ 26´´ 
= 180º – (134º 30´ 26´´) 
= (179º – 134º) + (1º – 30´ 26´´) 
= 45º + (60´ – (30´ + 26´´))      [ 1º = 60´] 
= 45º + (59´ – 30´) + (1´ – 26´´) 
= 45º + 29´ + 34´´     = 45º29´34´´ 

 (Adjacent angles) :

(i) 
(ii) 
(iii) 

O A 

B 

C 
 

AOC  BOC 
O 

OC -  OA  OB 
 OC 

 (Linear pair of angles) : 

-

O A B 

C 

AOC  BOC 
-  OA  OB 

 BOA 
AOC  BOC 

(Theorem) 1 : 

180° 
(Given) : AOB  OC, 

OD  OE AOC, COD, 
DOE EOB 

O B A 

EDC 

(To prove) :  
AOC + COD + DOE + EOB = 180°. 

 (Proof) :  OC,  AB 
 AOC + COB = 180° 



AOC  + (COD + DOE + EOB) = 180° 
[COB = COD + DOE + EOB] 

AOC + COD + DOE + EOB = 180°. 
AB O 

 180° 
 (Theorem) 2 : 

360° 
 (Given) : O OA, OB, 

OC, OD  OE O 

 (To prove) :  
AOB + BOC + COD + DOE + EOA = 360° 

(Construction) : OF  OA 

 (Proof) :  OB  FA 
 : AOB + BOF = 180°  [

] 
AOB + BOC + COF = 180°      ….(i) 

[BOF = BOC + COF] 

O A F 

B C 

ED
 OD  FA 

FOD + DOA = 180°    [ ] 
 FOD + DOE + EOA = 180°    …(ii) 

[DOA = DOE + EOA] 
(i)  (ii)  : 
AOB + BOC + COF + FOD + DOE 

+EOA = 360° 
AOB + BOC + COD + DOE + EOA                = 360°

[COF + FOD = COD] 
O 

 360° 
 (Vertically opposite angles) : 

AB  CD  O 
 : 

(i) AOC  BOD       (ii) AOD  BOC 

O
A 

C B 

D

 (Theorem) 3 : 

(Given) : AB  CD O 

 (To prove) : (i) AOC = BOD,  
(ii) AOD = BOC 

 (Proof ) :  OA  CD 
: 

O

A 

C B 

D

AOC + AOD = 180°   [ ]. 
 OD  AB 

AOD + BOD = 180°    [ ] 
AOC + AOD = AOD + BOD 

[  180° ] 
AOC = BOD 

 AOD = BOC 




  – 

(i) 
(ii) 
(iii) -

 
-



 
180º 



 180º 
-



 
360º 








   
.15 AB  CD O 

 AOC = 50° AOD, 
BOD BOC 

O
C 

A D

B 
50° 

.  AOD + AOC = 180° ( ) 
AOD + 50° = 180° 
AOD  = 130°  
BOD = AOC   

( ) 
 BOC = AOD = 130° 

( ) 
130°, 50°, 130°. 

.16 AOB  x 
AOC, COD 

BOD 

O B A 

D
C 

(3x+7)° x° (2x–19)°

 
.  (3x + 7)° + (2x – 19)° + x° = 180' ( ) 

6x – 12) = 180°  
6x = 192° 
x = 32° 
AOC = 3x + 7 = 3(32) + 7 = 96 + 7 = 103° 
COD = 2x – 19 = 2(32) – 19 = 64 – 19 = 45° 
BOD = x° = 32°.    

.17 AB  CD O 
BOC + AOD = 280° 

O

C 

A D

B 

.  AOC = BOD = x(Let) 
 ( ) 
AOC + (AOD + BOC) + BOD = 360° 
x + 280°  + x = 360° 
2x = 80°    
x = 40° 
AOC = BOD = x° = 40°. 
BOC = AOD = 2

280  = 140°.



.18  OA, OB 
AOC + BOD = 90° COD 

O B A 

D
C 

. OA  OB AB 
 OC  AB 

AOC + COB = 180° 
AOC + COD + BOD = 180° 

[COB = COD + BOD] 
(AOC + BOD) + COD = 180° 
90° + COD = 180° 

[  AOC + BOD = 90° ( )] 
COD = 180° – 90° = 90° 

.19 , OP  BOC OQ, 
AOC 

 POQ = 90° 

. 
O B A 

P Q

3 24 1
C 

OP BOC 

1 = 2 
1 = 2

BOC

 OQ  AOC 
3 = 4 

4 = 2
AOC

1 + 4 = 2
AOC

2
BOC 

= 2
AOCBOC   =  902

180

.20  OA  OB  : 

C 

x° y° 
A O B

(i)  x = 75  y  ? 
(ii)  y = 110  x  ? 

.  AOC  BOC 

 AOC + BOC = 180º 
  x + y = 180º  ...(1) 

(i)  x = 75 (i) 
75 + y = 180º 

 y = 105º. 
(ii)  y = 110  (i) 
  x + 110 = 180 

  x = 180 – 110 = 70. 
.21 AOC  BOC 

x 

C

2x°4x° 
A O B

.   AOC  BOC 
 AOC + BOC = 180º 

   4x + 2x = 180º 
  6x = 180º 



  x = 6
º180  = 30º 

 x = 30º 
.22  OA, OB 

AOC + BOD = 90º COD 

D 

A O B

C 

. OA  OB AB 
 OC  AB 

 AOC + COB = 180º [ ] 
  AOC + COD + BOD = 180º 

[COB = COD + BOD] 
  (AOC + BOD) + COD = 180º 
  90º + COD = 180º  

[AOC + BOD = 90º ( )] 
   COD = 180º – 90º 
  COD = 90º    

.23  OE  AOB 
OF OE 

FOB = FOA. 
B

F O E

A
.  OE  AOB 

EOB = EOA   ....(i) 
OB  EF 

  EOB + FOB = 180º ...(ii) [ ] 
 OA  EF 

  EOA + FOA = 180º ....(iii) 
(ii)  (iii) 

  EOB + FOB = EOA + FOA 
  EOA + FOB = EOA + FOA 

[ EOB = EOA  ((i) ] 
  FOB = FOA. 

.24 OE,  AOC
 OF, COB 

 OE OF,  A, O, B

C

A O B

E
F

. OE  OF  AOC  COB 

 AOC = 2EOC ....(i) 
COB = 2COF ....(ii) 

(i)  (ii) 
  AOC + COB = 2EOC + 2COF 
  AOC + COB = 2(EOC + COF) 
  AOC + COB = 2(EOF) 
  AOC + COB = 2 × 90º 

 [ OE OF EOF = 90º] 
  AOC + COB = 180º 

 AOC  COB 
 AOC  COB 

 AOC  COB 
OA  OB 

A, O, B 



.25 OC  AB 
AOC = COB AOC = 90º. 

.  OC  AB 
AOC + COB = 180º [ ] ...(i) 

C

A  O B
AOC = COB   ( ) 

  AOC + OC = 180º   
  2AOC = 180º      AOC = 90º 

.26 1  2  O
( ) 

 a = 35º  b, c,  d 

b a
d

c 
1

2

. 1  2  O

a = c [ ] 
 c = 35º [a = 35º] 

 a + b = 180º 
[  a  b ] 
 35º + b = 180º 
 b = 180º – 35º  

  b = 145º 
b  d 

d = b  d = 145º  [b = 145º] 
.27  y 

2y° 
5y° 

C D

A
5y° 

B

E F

O 

.  COD  EOF 
COD = EOF  COD = 5yº 

 [ EOF = 5yº ( )] 
 OA  OB 

 AOD + DOC + COB = 180º 
 2yº + 5yº + 5yº = 180º 
 12yº = 180º 
 yº = 12

º180  = 15. 
yº = 15. 

.28 , AB  CD  OP  OQ 
BOD  AOC 

OP  OQ 

2 1 
Q 

3 
C

6 4 
B  

P  
D  O  

A

5

.  OP  OQ 
POQ = 180º 

 OP  AOC 
 1 = 6  ...(i) 

 OQ,  AOC 
 3 = 4  ....(ii) 

 2  5 
  2 = 5 ....(iii) 

360º 
1 +2  + 3 + 4 + 5 + 6 = 360º 



  (1 + 6) + (3 + 4) + (2 + 5) = 360º 
  21 + 23 + 22 = 360º   
 [(i), (ii)  (iii) ] 
  2(1 + 3 + 2) = 360º  
  1 + 2 + 3 = 180º    POQ = 180º 

 OP  OQ 
.29 , PQ  RS 

O  POT = 75º 
 a, b  c 

Q

S
T

b
aO 2c 

4b
75°

P 

R 

.  OR  OS 
   ROP + POT + TOS = 180º 
 4bº + 75º + bº = 180º 5bº + 75º = 180º 
 5bº = 105º bº = 21 

PQ  RS  O 

QOS = POR   [ ] 
 a = 4b 
 a = 4 × 21 = 84 [  b = 21] 

 OR  OS 
 ROQ + QOS = 180º    [ ] 
 2c + a = 180 
 2c + 84 = 180          [ b = 84] 
 2c = 96 c = 48 

 a = 84, b = 21  c = 48 
.30  AOC + BOD = 70º  COD 

C

A  O B

D

.  AOC + COD + BOD = 180º 
 (AOC + BOD) + COD = 180º 
 70º +  COD = 180º 
 COD = 180º – 70º 
 COD = 110º 

.31 y 

2y
3y 5y 

.  2y + 3y + 5y = 180º 
10y = 180º y = 10º

180º  = 18º 
 (Parallel lines) :

m  p 
q    r t  a b 

 (Transversal line) :



p 
m 


B 
A 

 

|| m  p 
* 

(AB) 

 
 

 

 

 

 



 

 

 

 

 

 

 

 n-
= (n – 2) × 180º (n  3)

 n-
= n

º180)2n( 

 
 = 360º. 

 
= 180º

360º



2

1

4 

3
2

1
4 

3 

21 4 3 2 1

   
.32  m || n  1 = 65º 5 8 

12 
3 4 



5 6
7 8 

m
n

. 
1 = 3 [ ] 

 3 = 8  [ ] 
 1 = 8 
 8 = 65º [ 1 = 65º ( )] 

 5 + 8 = 180º 
 5 + 65º = 180º 
 5 = 180º – 65º = 115º 

 5 = 115º  8 = 65º. 

.33  m || n 1  2  3 : 2 
 1  8 

21 
4 3 



5 6
7 8 

m 
n

.  1 : 2 = 3 : 2 

1 = 3xº  2 = 2xº 
 1  2 

   1 + 2 = 180º 
   3xº + 2xº = 180º 5xº = 180º 

  x = 5
º180  = 36º 

  1 = 3xº = (3 × 36)º = 108º 
2 = 2xº = (2 × 36)º = 72º 

 1 = 4  2 = 3 
[ ] 

  4 = 72º  3 = 108º 
  6 = 2º  3 = 7 

[ ] 
  6 = 72º  7 = 108º      [2 = 72º] 

  5 = 7  8 = 6 
 5 = 108º  8 = 72º 

 1 = 108º, 2 = 72º, 3 = 108º, 
4 = 72º, 5 = 108º 6 = 72º, 7 = 108º  

 8 = 72º. 
.34 AB || DC  AD || BC 

DAB = DCB. 
A B 

D C
.  AD || BC  AB 

 A  B 
DAB + ABC = 180º 

[ ]  ...(i) 
AB || CD  BC 

B  C 
ABC + DCB = 180º 



[ ]  ....(ii) 
(i)  (ii) 

 DAB + ABC = ABC + DCB 
  DA B = DCB  

.35  AB || CD a 
C 55° D 

BA 
38° 
2 a 10 

. O  AB  CD

a = 1 + 2 ....(ii) 
 1 = 55º  [  s] 
 2 = 38º  [  s] 

 a = 55º + 38º        [(i) ] 
 a = 93º.  

 a = 93º 
.36  AB || CD  X 

. O  AB
CD 

A 45° B 

CD 
30° 

2 
1

 0
x° 

 1 = 45º [  s] 
2 = 30º [  s] 

 BOC = 1 + 2    = 45º + 30º = 75º 
So, x = 360 – BOC       = 360 – 75 = 285º 

 x = 285º 
.37  AB || CD x 

x°
112° 

108° 
E 

.  EF  AB  CD 
 AB || EF  AE  A  E 

  BAE + FEA = 180º 
108º + 1 = 180º1 = 180º – 108º = 72º 

EF || CD  CE  E  F 

  FEC + ECD = 180º 

1 
112° 

108° 
E 2 

D
F

B

  2 + 112º = 180º 
   2 = 180º – 112º 
  2 = 68º  

  x = 1 + 2     
x = 72º + 68º = 140º 

.38  AB || DE 
ABC + BCD = 180º + CDE. 

BA 

C
D E

.  C CF AB  DE 
AB || CF BC 

 B  C 
ABC + 1 = 180º  ....(i) 
[ ] 

DE || CF  CD 
C  D 



CDE = 2  [ ]        ....(ii) 
(i)  (ii) 

ABC + 1 + 2 = 180º + CDE 

BA

C
D E

F 
2 
1 

  ABC + BCD = 180º + CDE 
[ 1 + 2 = BCD] 

.39 PQ || RS, PAB = 70º 
ACS = 100º  ABC, BAC  CAQ 

A
QP

R B C S
100° 

70° 

.  PQ || RS  AB 
A  B 

 ABC = PAB [ ] 
ABC = 70º [PAB = 70º ( )] 

 PQ || RS  AC  A  C 

 PAC = ACS [ ] 
 PAC = 100º  [ACS = 100º] 
 PAB + BAC = 100º 

[PAC = PAB + BAC] 
 70º + BAC = 100º 

BAC = 30º 
AB, PQ A 

 PAC + CAQ = 180º 
  100º + CAQ = 180º 
  CAQ = 80º 

  ABC = 70º, 
  BAC = 30º  CAQ = 80º. 

.40 2 = 120º  5 = 60º 
 m || n. 

1
4 3

2 

5
87

6 
m

n

. 
2 = 120º  5 = 60º 

 2 = 4 [ ] 
  4 = 120º, 5 = 60º 
  4 + 5 = 120º + 60º = 180º 
  4  5 
 

 m || n. 
.41  AB || EF. 

66° 

36° 30°
150°
E F

DC 

A B

. 
 BCD = BCE + ECD 
  = 36º + 30º = 66º 

  ABC = BCD 
AB  CD  BC 

ABC = BCD 

AB || CD   ....(i) 
 ECD + CEF = 30º + 150º = 180º 



 CE 
180º 

  EF || CD ....(ii) 
 (i)  (ii)  

AB || CD  CD || EF AB || EF. 
 AB || EF 

.42  AOC = ACO 
BOD = BDO 
AC || DB. 

O
A

C B

D

 
. 

 AOC = ACO  BOD = BDO 
AOC = BOD [ ] 

  ACO = BOD  BOD = BDO 
  ACO = BDO 

AC  BD 
 CD 

ACO = BDO 
 AC || DB. 

.43 AB || DC  x = 3
4 y  y = 8

3 z 
x, y  z 

 B C

A D

z° y° x° 

.  AB || DC  BD 
B  D 

 ABD = CDB CDB = xº 
BCD 

yº + zº + xº = 180º 
  8

3 zº + zº + 3
4  × 8

3 zº = 180 

  8
3 zº + zº + 2

1 zº = 180 

 8
15 zº = 180º 

[ x = 3
4 y  y = 8

3 z 

x = 3
4  × 8

3 z = 2
z ] 

  zº = 180º × 15
8  = 96º 

y = 8
3 z y = 8

3  × 96º = 36º 

 x = 3
4 y x = 3

4  × 36º = 48 
.44 AB  CD P 

ABP + CDP = DPB. 
A 

D C 

P  

B
M

.  P  PM 
AB  CD 

PM || AB [ ] 
ABP = MPB  [ ]   ....(i) 

 CD || AB  PM || AB 
PM || CD 
[

] 



 CDP = MPD   [ ] ....(ii) 
(i)  (ii) 
ABP + CDP = MPB + MPD = DPB 

.45 

. , m, n  n
m  n ( ) 

|| m 
n

D 

1 

2 m 

n  m  n
  1 = 90º  2 = 90º 
  1 = 2 

n  m
 || m.

.46 

.  (Given) :  ABC  DEF 
 BA || ED  BC || EF. 

 (To prove) :ABC = DEF 
 ABC + DEF = 180º 

(Proof) : 
: 

I : 

AB || DE BC  B  G 

D

G
E F

C 

A

B

 ABC = DGC ...(i) 
 [ ] 

 BC || EF  DE  G  E 

  DGC = DEF  ...(ii) 
(i)  (ii) 
ABC = DEF 

 II : 

E
G

D

F

C 

A

B 

AB || DE  BC  B  G 

 ABC = EGC  ....(iii) 
 [ ] 

 BC || EF  DE  G 
E 

 DEF = EGC [ ]   ....(iv) 
(iii)  (iv) 
ABC = DEF. 



 III : 

( ) 

D

G
EF

C 

A

B

AB || DE  BC 
  ABC = BGE  [ ] ....(v) 
  BC || FE  DE 
  DEF + BGE = 180º  ....(vi) 

[ ] 
(v)  (vi) 
ABC + DEF = 180º

.47 ABC AB  AC 
B  C 

O 
BOC = 90º – 2

1 A. 

E 
O 

D
B

A 

C 

.  DBC = 180º – B 
  2

1 DBC = OBC = 90º – B/2 
 OCB = 90º – C/2 

OBC 
OBC + OCB + BOC = 180º 

 (90º – B/2) + (90º – C/2) + BOC = 180º 
BOC = 180º – (180º – B/2 + C/2) 

= B/2 + C/2  ...(i) 

 A + B + C = 180º 
B + C = 180º – A 

  2
1 (B + C) = 2

1 (180º – A) 

  2
1 B + 2

1 C = 90º – A/2 
(i) 
BOC = 90º – A/2 

.48  AB || CD 

A

C D

B
2 1 

4 3 

6 5 
8 7 

(i)  1 = (120 – x)º  5 = 5xº  1 
5 

(ii)  4 = (x + 20)º  5 = (x + 8)º 
4  5 

(iii)  2 = (3x – 10)º  8 = (5x – 30)º 
2  8 

(iv)  1 = (2x + y)º  6 = (3x – y)º 
2  y 

(v)  2 = (2x + 30)º, 4 = (x + 2y)º  
6 = (3y + 10)º  5 

(vi)  2 = 2 (1) 7 
(vii)   3  8  4 : 5  3 

8 
(viii)  5 4 

 4  5 
. (i) 1  5 

 1 = 5   (120 – x)º = 5xº 
 120º = 6x  x = 6

120  = 20º 



 1 = (120 – x)º = (120 – 20)º = 100º 
  5 = 5xº = (5 × 20)º = 100º 
(ii)   4  5 

4 + 5 = 180º 
[ ] 
 (x + 20)º + (x + 8)º = 180º 
 2xº + 28º = 180º 2xº = 180º – 28º 
2x = 152º   x = 76º 
 4 = (x + 20)º = (76 + 20)º = 96º 

 5 = (x + 8)º = (76 + 8º) = 84º 
(iii) 

2 = 4 [ ] 
 4 = 8 [ ] 

 2 = 8 
 (3x – 10)º = (5x – 30)º 3x – 10 = 5x – 30 
 3x – 5x = – 30 + 10     – 2x = – 20 
x = 10  
 2 = (3x – 10)º = (3 × 10 – 10)º = 20º 

8 = (5x – 30)º = (5 × 10 – 30)º = 20º 
(iv)   3  6 

3 + 6 = 180º 
1 = 3  1 + 6 = 180º 

   (2x + y)º + (3x – y)º = 180º 
   5x = 180º  x = 36. 

 1 = (2x + y)º = (72 + y)º [ x = 36] 
 1 + 2 = 180º

  (72 + y)º + 2 = 180º 
2 = (180 – (72 + y))º 2 = (108 – y)º. 

(v) 
2 = 4       [ ] 

 4 = 6  [ ] 
 2 = 4 = 6 

 2 = 4 
 2x + 30 = x + 2y 2x – x – 2y + 30 = 0 
 x – 2y + 30 = 0         ....(1) 

 4 = 6      (x + 2y) = (3y + 10) 
 x – y – 10 = 0       ....(2) 
(1)  (2) 
 (x – 2y + 30) – (x – y – 10) = 0 
 – y + 40 = 0  y = 40. 
y = 40 . (2)  x = 50. 
 4 = (x + 2y)º = (50 + 2 × 40)º = 130º 

 4 + 5 = 180º 
 130º + 5 = 180º  5 = 50º 

(vi) 
1 + 2 = 180º [ ] 

  2 = 2 1    1 + 2 1 = 180º 
  3 1 = 180º    1 = 60º 

1 = 3 [ ] 
 3 = 60º 

3 = 5 [ ] 
 5 = 7 [ ] 

  3 = 7   7 = 60º      [ 3 = 60º] 
(vii)  3 : 8 = 4 : 5 

3 = 4x  8 = 5x. 
 5 = 4x  8 = 5x 

[3 = 5 ( )] 
   5 + 8 = 4x + 5x 
  180º = 9x  x = 20º 

 3 = 4x = 4 × 20º = 80º  
 8 = 5x = 5 × 20º = 100º 

(viii) 
5  = 4 



 90º – 5 = 180º – 4 
 90º – 5 = 180º – (180º – 5) 








5º1804
º18054





 90º – 5 = 5 
   2 5 = 90º  5 = 45º 
   4 + 5 = 180º 
   4 + 45º = 180º 4 = 135º 

.49  OP || RS  PQR 
O P R S 

130°110°

Q
.  OP RQ T 

 OT || RS RT  T 
R 

O P R S
130° 

110° 

Q

T

RTP = SRT       [ ] 
 RTP = 130º 
 PTQ = 180º – 130º = 50º 




  180ºPTQRTP

 QP, OT  P  
 OPQ + QPT = 180º 
 110º + QPT = 180º QPT = 70º 
 PQR = 180º – (70º + 50º) = 60º  
[  180º ] 

.50 

.  PL  PM 
P 

P

M L 

PL || PM 



1. 

2. 90º 
3. 90º 

4. 90º 
180º

5. 180º 

6. 180º 

7.  90º 
8. 180º 

9. 
-

10. 
-

11. 

12. 

13. 

(i) 
(ii) 
(iii) 

14.  - 
(i) 
(ii) 
(iii) 

15.




